Khyber Pakhtun Khwa Board of Technical Education Peshawar

D.A.E 2nd Year Auto & Diesel / Auto & Farm/ Civil/
Mechanical / Architecture Technology (New Course)
Annual Examination 2012
Paper: - Applied Mathematics – II (Math– 212) 

--------------------------------------------------------------------------------------------------------------------- 

Time Allowed: - 
03  Hours. 





Max. Marks: - 100 

 Note: - 
Part – A is compulsory. It should be attempted on the question paper & handed 
over to the Centre Superintendent after 30 minutes. Cutting, erasing & 
overwriting is not allowed. 

Time: - 
30 Minutes 


Part – A 



Marks: - 20 

Q.1: -  
  (a)
Three possible answers are given for each of the following statements. Select 
the correct one and write its identifying letter a,b,c in the space provided on 
the let hand side of each statement.  




(07)
i. Two simple lines are said to be parallel if and only if its slopes are __________
     a) -1
b) different 
c) equal 
ii. Slope of a point (2, 3) & (5, 6) is ____________.      a) -3        b) 3 
   c) +1   
iii. If f(x) = x2 + 2x +9, then f(-1) = ____________           a) 8        b) 12          c) -5 
 iv.   
[image: image1.wmf]Lt

a

x

®


[image: image2.wmf]a

x

a

x

n

n

-

-

= _____________


 a) 
[image: image3.wmf]1

-

n

nx

     b) 
[image: image4.wmf]1

1

+

+

n

x

n


c) nan-1

  v.   Dx (tanx) = ________________            a) cotx 
b) sec2x 
c) –cosec2x


         vi.   Dx (Sin-1x) = __________________   a) 
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b) cos-1 x  c) –sin-2 x  

          vii.  
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 = ______________ 
a) x -2 

b) 
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c) Logx
(b) Fill in the blanks. 







(07)
i. 
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cosx = _______________. 
ii. Dx (Logx) = ________________. 
iii. Dx (Cosx) = ___________________ . 
iv. Dx (e
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v. 
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 = _________________. 
vi. 
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= _________________. 

vii. Define Even and Odd function. 

_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 
 
( c ) 
Choose the correct Answer of each statement in Column No-I from Column 
No 2 & rewrite in the blank space given in Column No – I.  

(06)
	
	Column – I 
	
	Column – 2 

	i)
	The standard form of a circle is ________________
	1)
	x2+y2 = r  

	ii)
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Sin x/x 
	2)
	Secxtanx

	iii)
	Dx (secx) = _________________
	3)
	Tan 2 x 

	iv)
	Dx (e sinx) = _________________
	4)
	tan-1x

	v)
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= _________________
	5)
	Cosx
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	vi) 
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= ________________
	6)
	x2+y2+29x+2fy+c=0

	
	
	7)
	ecosx

	
	
	8)
	x

	
	
	9)
	1
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Max. Marks: - 80
 Part – B
Note: - 

Attempt all questions. All questions carry equal  i.e 13 marks except Question No.7 


Which have fifteen(15)  marks. 
Q.No.2: - 
Show that (1, -1) is the centre of the circle circumscribing the triangle whose 
vertices are (4, 3) , (-2, 3) & (6, -1). 
OR 

Find the ratios in which the line joining the points (-2, 2), (4, 5) is cut by the y-axis. 
Q. No.3: - 
Find x, if the line through (1,x) & (6, -1) parallel to line through (-1, 5) & (-4, 3) . 


OR 



Find the equation of the circle centred at (4, -3) and contain the point (2, 3). 
Q.No.4: - 
Prove that 
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 OR 


Differentiate x3 – 5x +2 by ab-initio method. 

Q.No.5: - 
Find 
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  from the equation x5 + y5 = 5ax2y2 



OR 



Find the differential co-efficient of sinx.  
Q.No.6: - 
If sin 
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OR 



Differentiate  i)  
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ii) 
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 Q. No.7: - 
Integrate  
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ii) 
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OR 



i) 
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ii) 
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